RENAL REVISION QUESTIONS
Tubular function


Put (T) for the true statement and (F) for the false statement below:

1. Filtered molecule are reconered to blood by secretion				(  )
2. GFR x Px - UxV  = zero in glucose transport						(  )
3. GFR x Px - UxV  = negative in PAH transport					(  )
4. Para cellular transport is an active transport						(  )
5. In PCT equal quantity of solute and water is reabsorbed				(  )
6. In basolateral membrane sodium is reabsorbed passively with amino acid		(  )
7. Sodium enter renal cell following electrochemical gradient				(  )
8. Sodium enter renal cell cotransported with hydrogen				(  )
9. Filtrate osmolality at the end of PCT is equal to 1200				(  )
10. In glomerulotubular balance a fixed amount of filtrate is reabsorbed		(  )
11. Renal threshold of glucose is 375 mg/min						(  )
12. Amount of glucose reabsorbed above 375mg/min is fixed				(  )
13. Glucose is reabsorbed by a primary active process					(  )
14. Filtrate bicarbonate is reabsorbed by secondary active process			(  )
15. 50-60% of filtrate urea is excreted							(  )
16. Tubular secretion of H is limited by tubular maximum value			(  )
17. K is secreted in DCT in exchange for Na and under the control of Aldosterone	(  )
18. The hyperosmolality of descending loop is due to  NaCl reabsorptiom		(  )
19. The filtrate osmolality in the ascending loop is similar to plasma			(  )
20. 20% of filtrate water is reabsorbed in the thick ascending loop			(  )
21. Lasix block Na/K/2Cl cotransport in the thick ascending loop			(  )
22. Principal cells is permeable to water in the presence of ADH			(  )
23. Intercalated cells secretion of hydrogen ions 						(  )
24. During water deprivation ADH level was low					(  )
25. Changes in ECF osomolality is sensed by stretch receptors				(  )
26. Increases in blood volume will inhibit aldosterone secretion				(  )
27. Hyper osmolar is formed by counter current multiplier				(  )
28. Counter current exchanger is the function of peritubular capillaries			(  )
29. Medullary hyperosmolality is due to deposition of NaCL and urea			(  )
30. Large volume of hyperosmolar urine is produce following drinking of large quantity of water												(  )

